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is the nominative subject from the first person singular personal pronoun EGW, meaning “I” with the mild adversative use of the postpositive conjunctive particle DE, translated “But.”  Paul sets up a contrast between the judgment of the legalistic Judaizers who are perplexing the Gal and his own persecution from the same group of legalists.  Also, we have here the vocative from the masculine plural noun ADELPHOS, meaning “brethren” and indicating that Paul associates himself with the Galatians as a fellow believer suffering the persecution of the legalistic believers and unbelievers from Jerusalem.

 is the first class conditional particle EI, meaning “if and it’s true.”  This particle sets up a conditional idea that is a reality, something that is really happening.

 is the accusative direct object from the feminine singular noun PERITOMĒ, which means “circumcision.”  This word is used to represent the entire system of Judaism which existed at the time of Paul’s life, wherein a person was expected to become circumcised in order to have a spiritual life with God.  Then that person had to keep the Mosaic Law as the means of maintaining one’s salvation.  It was an entire system of salvation by works and having a spiritual life with God by works.

 is the temporal adverb ETI, which means “still, yet.”
 is the first person singular present active indicative from the verb KERUSSW, which means “to announce publicly, to proclaim; to preach.”

The present tense is a durative present for what has begun in the past and still continues.  Paul’s critics accuse him of still teaching the importance of circumcision and keeping the Mosaic Law.


The active voice indicates that Paul produces the action according to his critics.


The indicative mood indicates the reality of the accusations of Paul’s critics.

“But I, brethren, if I still preach circumcision,”
is the interrogative adverb TIS, which asks the question “Why?”
 is the temporal adverb ETI, which means “still, yet.”
 is the first person singular present passive indicative from the verb DIWKW, which means “to be persecuted.”

The present tense is a descriptive present for what is now going on.


The passive voice indicates that Paul receives the action.


The indicative mood is declarative for the reality of Paul’s persecution by the Judaizers.

“why am I still persecuted?”
is the conjunction ARA, which means “so, then, consequently, you see” and at the beginning of a sentence, as here, it means “as a result.”
 is the third person singular perfect passive indicative from the verb KATARGEW, which means “abolish, wipe out, set aside; hence, to cease.”

The perfect tense is an intensive perfect, which describes a present state resulting from a past action.  The present state is the offense to the Jews of Jesus Christ being their personal savior.  The past action is whether or not Paul is still preaching the importance of circumcision and keeping the Mosaic Law for salvation.


The passive voice indicates that the offense of Jews at Jesus Christ receives the action.


The indicative mood is declarative for the reality of this conclusion based on the assumption of the truth of the premise.

is the nominative subject from the neuter singular article and noun SKANDALON, which means “that which gives offense or causes revulsion, that which arouses opposition, an object of anger or disapproval, stain.”  The spiritual death of Christ on the Cross offended the Jews.  It caused revulsion in their thoughts and actions.  It aroused great opposition from them.  The subject of Christ and the Cross caused immediate anger and hatred from the Jew that a common criminal such as Jesus should be the means of salvation for the human race and the only One through whom anyone could have a relationship with God.

 is the descriptive genitive from the masculine singular article and noun STAUROS, which means “of the Cross.”  This is a reference to the system of salvation by faith in Christ because of His spiritual death on the Cross while bearing the judgment of our sins as a substitute for us.

“As a result the offense of the Cross has ceased.”
Gal 5:11 corrected translation
“But I, brethren, if I still preach circumcision, why am I still persecuted?  As a result the offense of the Cross has ceased.”
Explanation:
1.  Paul uses one of the arguments of his critics against them.

a.  Paul’s critics say that Paul still really preaches that a person must be circumcised to be saved.


b.  Paul takes their own argument and uses it as his premise.  He acts as a straw man.  The idea being that he is preaching relationship with Christ through keeping the ritual of circumcision. 


c.  Then he asks the logical question, “If I am doing what the Jewish legalists want me to do; that is, preaching that salvation and the spiritual life are through keeping the ritual of circumcision, then why are these same people critical of me?”

d.  Of course, neither the Galatians nor Paul’s critics can say anything in reply to this, because there is no rational answer.


e.  Paul’s critics are completely irrational and Paul proves this through one logical question.  This was Paul’s absolute genius.


f.  Irrational people always contradict themselves, just as Paul’s critics contradicted themselves.


g.  The Jewish unbelievers and legalistic Christians couldn’t have it both ways.  They could not say on the one hand that Paul supported their position by his actions, and then maintain on the other hand that he should be persecuted as a blasphemer.

2.  Then Paul turns the knife after inserting it into the heart of his critics’ erroneous position.


a.  If salvation is through keeping the Mosaic Law as manifest by the ritual of circumcision, then the Cross should no longer be offensive to the Jews.


b.  The Jews were deeply offended by the claims of Christians that the Messiah had to come and die for the sins of the Jews.


c.  They did not consider themselves to be all that sinful, and certainly not sinful enough that God should have to come and die on a Cross as a common criminal.


d.  For this reason and many others, the Jews rejected Jesus Christ as their Messiah and wanted nothing to do with Him.


e.  But if salvation is through circumcision plus believing in Christ as Paul’s critics assert, then Christ is no longer the offense that the Jews once claimed and there is nothing wrong with Him dying spiritually on a Cross for them.


f.  This argument is so powerful that the Galatians could not help but see through the false teaching of the Judaizers.


g.  The Judaizers were attempting to add ritual works to faith in Christ as the means of salvation.  No works can contribute to salvation under any circumstances, Eph 2:8-9.
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